

2.1.3 Operators

1) Linearität $\hat{A}(u+v) = \hat{A}u + \hat{A}v$

$$\hat{A}(cu) = c \hat{A}u \quad c \in \mathbb{C}$$

a) $\hat{A}u = du$ OK

$$\hat{A}(u+v) = d(u+v) = du + dv = \hat{A}u + \hat{A}v \quad \checkmark$$

$$\hat{A}(cu) = d(cu) = cdu = c \hat{A}u \quad \checkmark$$

b) $\hat{A}u = u^*$

$$\hat{A}(cu) = c^* u^* = c^* \hat{A}(u) \neq c \hat{A}(u) \quad \times$$

c) $\hat{A}u = u^2$

$$\hat{A}(u+v) = u^2 + 2uv + v^2 = A(u) + A(v) + 2uv \neq u^2 + v^2 = A(u) + A(v) \quad \times$$

$$\hat{A}(cu) = c^2 u^2 = c^2 A^2(u) \neq c A(u) \quad \times$$

d) $\hat{A}(u) = \frac{du}{dx}$

$$A(u+v) = \frac{d}{dx}(u+v) = \frac{du}{dx} + \frac{dv}{dx} = A(u) + A(v) \quad \checkmark$$

$$A(cu) = \frac{d(cu)}{dx} = c \frac{du}{dx} = c A(u) \quad \checkmark$$

e) $\hat{A}(u) = \frac{1}{u}$

$$A(u+v) = \frac{1}{u+v} \neq \frac{1}{u} + \frac{1}{v} = A(u) + A(v) \quad \times$$

f) $\hat{A}\hat{B} = [\hat{H}, \hat{B}] = \hat{H}\hat{B} - \hat{B}\hat{H}$

$$\hat{A}(\hat{B} + \hat{c}) = A[\hat{H}, \hat{B} + \hat{c}] = [\hat{H}, \hat{B}] + [\hat{H}, \hat{c}] = \hat{A}\hat{B} + \hat{A}\hat{c} \quad \checkmark$$

$$\hat{A}c\hat{B} = [\hat{H}, c\hat{B}] = c[\hat{H}, \hat{B}] = c\hat{A}\hat{B} \quad \checkmark$$

$$2) (\hat{A} - \hat{B})(\hat{A} + \hat{B}) = \hat{A}^2 - \hat{B}^2 - \hat{B}\hat{A} + \hat{A}\hat{B} = \hat{A}^2 - \hat{B}^2 + [\hat{A}, \hat{B}]$$

$$3) [\sum_i \hat{A}_i, \sum_j \hat{A}_j] = \sum_i \hat{A}_i \sum_j \hat{A}_j - \sum_j \hat{A}_j \sum_i \hat{A}_i = \sum_{i,j} (\hat{A}_i \hat{A}_j - \hat{A}_j \hat{A}_i) = \sum_{i,j} [\hat{A}_i, \hat{A}_j]$$

4) $[\hat{A}\hat{B}, \hat{C}]$ pomocí $[\hat{A}, \hat{C}]$ a $[\hat{B}, \hat{C}]$

$$[\hat{A}\hat{B}, \hat{C}] = \hat{A}\hat{B}\hat{C} - \hat{C}\hat{A}\hat{B} = \hat{A}\hat{B}\hat{C} - \hat{C}\hat{A}\hat{B} - \hat{A}\hat{C}\hat{B} + \hat{A}\hat{C}\hat{B} = \hat{A}[\hat{B}, \hat{C}] + [\hat{A}, \hat{C}]\hat{B}$$

5) $A\psi = \frac{d^2\psi}{dx^2} + 3\psi^2$ lineární?

$$A(\psi + \phi) = \frac{d^2}{dx^2}(\psi + \phi) + 3(\psi + \phi)^2 = \frac{d^2\psi}{dx^2} + \frac{d^2\phi}{dx^2} + 3\psi^2 + 3\phi^2 + \frac{6\psi\phi}{1 \cdot x}$$

6) $(\frac{d}{dx} + x)^2$?

$$\begin{aligned} (\frac{d}{dx} + x)^2 \psi &= (\frac{d}{dx} + x) \left[\frac{d\psi}{dx} + x\psi \right] = \frac{d^2\psi}{dx^2} + x \frac{d\psi}{dx} + \frac{d}{dx}(x\psi) + x^2\psi \\ &= \frac{d^2\psi}{dx^2} + x \frac{d\psi}{dx} + \psi + x \frac{d\psi}{dx} + x^2\psi = \frac{d^2\psi}{dx^2} + 2x \frac{d\psi}{dx} + (x^2 + 1)\psi \end{aligned}$$

$$\left(\frac{d}{dx} + x\right)^2 = \frac{d^2}{dx^2} + 2x \frac{d}{dx} + x^2 + 1$$

$$\begin{aligned} \Rightarrow \left(\frac{d}{dx} + \frac{1}{x}\right)^3 \psi &= \left(\frac{d}{dx} + \frac{1}{x}\right)^2 \left(\frac{d\psi}{dx} + \frac{1}{x}\psi\right) = \left(\frac{d}{dx} + \frac{1}{x}\right) \left[\frac{d^2\psi}{dx^2} + \frac{d}{dx}\left(\frac{1}{x}\psi\right) + \frac{1}{x} \frac{d\psi}{dx} + \frac{1}{x^2}\psi \right] \\ &= \left(\frac{d}{dx} + \frac{1}{x}\right) \left[\frac{d^2\psi}{dx^2} - \frac{1}{x^2}\psi + \frac{1}{x} \frac{d\psi}{dx} + \frac{1}{x} \frac{d\psi}{dx} + \frac{1}{x^2}\psi \right] = \left(\frac{d}{dx} + \frac{1}{x}\right) \left[\frac{d^2\psi}{dx^2} + \frac{2}{x} \frac{d\psi}{dx} \right] \\ &= \frac{d^3\psi}{dx^3} + \frac{d}{dx} \left(\frac{2}{x} \frac{d\psi}{dx} \right) + \frac{1}{x} \frac{d^2\psi}{dx^2} + \frac{2}{x^2} \frac{d\psi}{dx} = \frac{d^3\psi}{dx^3} - \frac{2}{x^2} \frac{d\psi}{dx} + \frac{2}{x} \frac{d^2\psi}{dx^2} + \frac{1}{x} \frac{d^2\psi}{dx^2} + \frac{2d}{x^2} \\ &= \frac{d^3\psi}{dx^3} + \frac{3}{x} \frac{d^2\psi}{dx^2} \end{aligned}$$

$$\left(\frac{d}{dx} + \frac{1}{x}\right)^3 = \frac{d^3}{dx^3} + \frac{3}{x} \frac{d^2}{dx^2}$$

$$8) \left(x \frac{d}{dx}\right)^2 \text{ vs } \left(\frac{d}{dx}x\right)^2$$

$$A\psi = \left(x \frac{d}{dx}\right)^2 \psi = x \frac{d}{dx} \left(x \frac{d}{dx} \psi\right) = x \frac{d}{dx} \left(x \frac{d\psi}{dx}\right) = x \frac{d\psi}{dx} + x^2 \frac{d^2\psi}{dx^2}$$

$$B\psi = \left(\frac{d}{dx}x\right)^2 \psi = \frac{d}{dx} \left[x \frac{d}{dx} (x\psi) \right] = \frac{d}{dx} \left[x\psi + x^2 \frac{d\psi}{dx} \right] = \psi + x \frac{d\psi}{dx} + 2x \frac{d\psi}{dx} + x^2 \frac{d^2\psi}{dx^2} =$$

$$A = \left(x \frac{d}{dx}\right)^2 = x \frac{d}{dx} + x^2 \frac{d^2}{dx^2} = \psi + 3x \frac{d\psi}{dx} + x^2 \frac{d^2\psi}{dx^2}$$

$$B = \left(\frac{d}{dx}x\right)^2 = 1 + 3x \frac{d}{dx} + x^2 \frac{d^2}{dx^2}$$

$$? \left(y \frac{d}{dx}\right)^2 \text{ vs. } \left(\frac{d}{dx}y\right)^2$$

$$(yx)^2 \text{ vs. } (xy)^2$$

$$9) (\vec{p} - q\vec{A})^2 \quad \vec{p} = -i\hbar\vec{\nabla} \quad \vec{A} = \vec{A}(x, t)$$

$$(\vec{p} - q\vec{A})^2 \psi = (-i\hbar\vec{\nabla} - q\vec{A})^2 \psi = (-i\hbar\vec{\nabla} - q\vec{A})(-i\hbar\vec{\nabla}\psi - q\vec{A}\psi)$$

$$= -\hbar^2 \nabla^2 \psi + i\hbar q \nabla \cdot (\vec{A}\psi) + i\hbar q \vec{A} \cdot \nabla \psi + q^2 A^2 \psi$$

$$\vec{\nabla} = \begin{pmatrix} \frac{\partial}{\partial x} \\ \frac{\partial}{\partial y} \\ \frac{\partial}{\partial z} \end{pmatrix} \quad \vec{A} = \begin{pmatrix} A_x \\ A_y \\ A_z \end{pmatrix} \quad \psi = \begin{pmatrix} \psi \\ \psi \\ \psi \end{pmatrix} = \psi \quad (\vec{\nabla}) \cdot (\vec{A}\psi) = \begin{pmatrix} \frac{\partial}{\partial x} \\ \frac{\partial}{\partial y} \\ \frac{\partial}{\partial z} \end{pmatrix} \cdot \begin{pmatrix} A_x \psi \\ A_y \psi \\ A_z \psi \end{pmatrix} = \sum \frac{\partial}{\partial x} A_x \psi = \vec{\nabla} \cdot \vec{A} \psi$$

$$\frac{\partial}{\partial x} A_x \psi = \frac{\partial A_x}{\partial x} \psi + A_x \frac{\partial \psi}{\partial x}$$

$$\vec{\nabla} \cdot (\vec{A}\psi) = (\vec{\nabla} \cdot \vec{A}) \psi + \vec{A} \cdot \nabla \psi$$

$$\rightarrow (\vec{p} - q\vec{A})^2 = -\hbar^2 \nabla^2 + i\hbar q \nabla \cdot \vec{A} + 2i\hbar q \vec{A} \cdot \nabla + q^2 A^2$$

$$10) \left[\frac{d}{dx}, x \right]$$

$$\left[\frac{d}{dx}, x \right] \psi = \left(\frac{d}{dx} x \psi - x \frac{d}{dx} \psi \right) = \psi + x \frac{d\psi}{dx} - x \frac{d\psi}{dx} = \psi$$

$$\left[\frac{d}{dx}, x \right] = 1$$

$$11) [x, p] = [x, -i\hbar \frac{d}{dx}] = -i\hbar [x, \frac{d}{dx}]$$

$$-i\hbar [x, \frac{d}{dx}] \psi = -i\hbar \left[x \frac{d\psi}{dx} - \frac{d}{dx} x \psi \right] = -i\hbar \left[x \frac{d\psi}{dx} - \psi - x \frac{d\psi}{dx} \right] = i\hbar \psi$$

$$[x, p] = i\hbar$$

$$13) [x-p, x+p] = [x, x] + [x, p] - [p, x] - [p, p]$$

$$= 2[x, p] = 2i\hbar$$

$$14) [xp, x] = xp x - x^2 p = x(px - xp) = x[p, x] = -i\hbar x$$

$$15) \left[\frac{\partial}{\partial x}, f(x, y, z) \right]$$

$$\left[\frac{\partial}{\partial x}, f(x, y, z) \right] \psi = \frac{\partial}{\partial x} f \psi - f \frac{\partial}{\partial x} \psi = \frac{\partial f}{\partial x} \psi + f \frac{\partial \psi}{\partial x} - f \frac{\partial \psi}{\partial x} = \frac{\partial f}{\partial x} \psi$$

$$\left[\frac{\partial}{\partial x}, f(x, y, z) \right] = \frac{\partial f}{\partial x}$$

$$16) [x, D^2]$$

$$\begin{aligned} [x, D^2] \psi &= x D^2 \psi - D^2 x \psi = x D^2 \psi - \frac{\partial}{\partial x} \frac{\partial}{\partial x} x \psi = x \frac{\partial^2 \psi}{\partial x^2} - \frac{\partial}{\partial x} \psi - \frac{\partial}{\partial x} x \frac{\partial \psi}{\partial x} \\ &= x \frac{\partial^2 \psi}{\partial x^2} - \frac{\partial \psi}{\partial x} - \frac{\partial \psi}{\partial x} - x \frac{\partial^2 \psi}{\partial x^2} = -2 \frac{\partial \psi}{\partial x} \end{aligned}$$

$$[x, D^2] = -2 \frac{\partial}{\partial x}$$

18) $\hat{T}_a \psi(x) = \psi(x+a)$

$$\psi(x+a) = \psi(x) + a \frac{d\psi(x)}{dx} + \frac{a^2}{2} \frac{d^2\psi(x)}{dx^2} + \dots = \sum_{n=0}^{\infty} \frac{a^n}{n!} \frac{d^n}{dx^n} \psi(x)$$

$$\hat{T}_a = e^{a \frac{d}{dx}}$$

21) Hermit conjugate: $\langle \psi | H \psi \rangle = \langle H^\dagger \psi | \psi \rangle$

$$\int \psi^*(x) H \psi(x) dx \quad \int [H^\dagger \psi]^* \psi(x) dx$$

$H = \frac{\partial}{\partial x}$

$$\int \psi^* \frac{\partial \phi}{\partial x} dx = \int_{-\infty}^{\infty} \left(\psi^* \int_{-\infty}^{\infty} \frac{d\phi}{dx} dx \right) - \int \frac{d\psi^*}{dx} \phi dx = [\psi^* \phi]_{-\infty}^{\infty} - \int \frac{d\psi^*}{dx} \phi dx$$

$$\int (uv') dx = uv - \int (u'v) dx$$

$\langle \psi | A \phi \rangle = \int \psi^* \frac{\partial \phi}{\partial x} dx$

$A = \frac{d}{dx}$

$\langle A^\dagger \psi | \phi \rangle = - \int \frac{d\psi^*}{dx} \phi dx = - \int \left[\frac{d}{dx} \psi^* \right]^* \phi dx = \int \left[-\frac{d}{dx} \psi \right]^* \phi dx$

$A^\dagger = -\frac{d}{dx}$

22) $\frac{d^n}{dx^n}$

pro n=2 $\int \psi^* \frac{d^2 \phi}{dx^2} dx = \int \psi^* \frac{d}{dx} \left(\frac{d\phi}{dx} \right) dx = \int \frac{d}{dx} \left[\psi^* \frac{d\phi}{dx} \right] dx - \int \frac{d\psi^*}{dx} \frac{d\phi}{dx} dx$

\rightarrow in limit \rightarrow const $\neq 0$

$= - \int \frac{d\psi^*}{dx} \frac{d\phi}{dx} dx = - \int \frac{d}{dx} \left[\frac{d\psi^*}{dx} \phi \right] dx + \int \frac{d^2 \psi^*}{dx^2} \phi dx = \int \frac{d^2 \psi^*}{dx^2} \phi dx$

evident $\left(\frac{d^n}{dx^n} \right)^\dagger = (-1)^n \left(\frac{d}{dx} \right)^n$

23) ~~$p = -i\hbar \frac{d}{dx}$~~ $p = -i\hbar \nabla$

$\langle \psi | c \phi \rangle = \int \psi^* c \phi dx = \int c \psi^* \phi dx = \int (c^* \psi)^* \phi dx = \langle c^* \psi | \phi \rangle$

$c^\dagger = c^*$

$p^\dagger = (-i\hbar)^* (-\nabla) = i\hbar (-\nabla) = -i\hbar \nabla \rightarrow$ Hermit.

25) p ~~is not~~ ^{is not} self-adjoint

physics.steklovage.com T2-3b
How to construct the radial component.

$$? \hat{p}\psi = -i\hbar \frac{1}{r} \frac{\partial}{\partial r} (r\psi) \quad \text{OK}$$

$$? \hat{D}\psi = \frac{\hbar}{r} - i\hbar \frac{\partial}{\partial r} \psi \quad D^\dagger ?$$

$$\begin{aligned} \int_0^\infty r^2 \psi^* (-i\hbar) \frac{1}{r} \frac{\partial}{\partial r} (r\psi) dr &= -i\hbar \int_0^\infty \psi^* r \frac{\partial}{\partial r} (r\psi) dr = \\ &= -i\hbar \int_0^\infty \left[\frac{d}{dr} (\psi^* r) + r\psi \right] dr + i\hbar \int_0^\infty \frac{d\psi^*}{dr} r\psi dr \\ &= -i\hbar \left[\psi^* r^2 \psi \right]_0^\infty + i\hbar \int_0^\infty \frac{d(\psi^* r)}{dr} r\psi dr = \\ &\quad \infty: \psi^* \& \psi = 0 \\ &\quad 0: r = 0 \\ &= \int_0^\infty \left[\frac{i\hbar d(\psi^* r)}{dr} \right] r\psi dr = \int_0^\infty \left[\frac{-i\hbar d(\psi r)}{r dr} \right]^* r^2 \psi dr \end{aligned}$$

$$D = -i\hbar \frac{d}{dr} \quad D^\dagger = ?$$

$$p\psi = -\frac{i\hbar d(\psi r)}{r dr} = p\psi \quad \text{OK, Hermit}$$

$$\begin{aligned} \int_0^\infty r^2 \psi^* (-i\hbar) \frac{\partial}{\partial r} \psi dr &= (-i\hbar) \int_0^\infty r^2 \psi^* \frac{\partial}{\partial r} \psi dr = (-i\hbar) \int_0^\infty \left[\frac{d}{dr} (r^2 \psi^* \psi) \right] dr + i\hbar \int_0^\infty \left[\frac{d(r^2 \psi^*)}{dr} \right] \psi dr = \\ &= i\hbar \int_0^\infty \left[2r\psi^* + r^2 \frac{d\psi^*}{dr} \right] \psi dr = \int_0^\infty \left[-i\hbar 2r\psi - i\hbar r^2 \frac{d\psi}{dr} \right]^* \psi dr = \\ &\quad \left[-i\hbar \frac{d}{dr} \right]^\dagger = \left[-i\hbar 2r - i\hbar r \frac{d}{dr} \right] \\ &= \int_0^\infty r^2 \left[-\frac{i\hbar 2}{r} \psi - i\hbar \frac{d\psi}{dr} \right]^* \psi dr \end{aligned}$$

$$D^\dagger = \left[-i\hbar \frac{d}{dr} \right]^\dagger = \left[-i\hbar \left(\frac{2}{r} + \frac{d}{dr} \right) \right] = \tilde{D} \quad \rightarrow \text{non-hermitian}$$

$$\text{Hermitian: } \frac{D^\dagger + D}{2} = \frac{-i\hbar \left[\frac{d}{dr} + \frac{2}{r} + \frac{d}{dr} \right]}{2} = -i\hbar \left[\frac{d}{dr} + \frac{1}{r} \right]$$

$$\hat{p}_r = -i\hbar \left[\frac{d}{dr} + \frac{1}{r} \right] \psi = -\frac{i\hbar}{r} \frac{d}{dr} (r\psi) = \hat{p}_r$$

$$28) [e^{i\alpha \frac{\partial}{\partial \varphi}}]^\dagger ? \quad \alpha \in \mathbb{R}$$

UKM-T2.4

$$e^{i\alpha \frac{\partial}{\partial \varphi}} = \sum_{n=0}^{\infty} \frac{(i\alpha \frac{\partial}{\partial \varphi})^n}{n!} \quad (i\alpha)^\dagger = (i\alpha)^* = -i\alpha$$

$$[e^{i\alpha \frac{\partial}{\partial \varphi}}]^\dagger = \left[\sum_{n=0}^{\infty} \frac{(i\alpha \frac{\partial}{\partial \varphi})^n}{n!} \right]^\dagger = \sum_{n=0}^{\infty} \frac{(-i\alpha)^n (-\frac{\partial}{\partial \varphi})^n}{n!} = \sum_{n=0}^{\infty} \frac{(i\alpha \frac{\partial}{\partial \varphi})^n}{n!} = e^{i\alpha \frac{\partial}{\partial \varphi}}$$

$$30) [\hat{A}\hat{B}]^\dagger = ?$$

$$\int \psi^* (\hat{A}\hat{B}\psi) d\tau = \int (\hat{A}^\dagger \psi)^* \hat{B}\psi d\tau = \int (\hat{B}^\dagger \hat{A}^\dagger \psi)^* \psi d\tau \quad \text{OK}$$

$$[\hat{A}\hat{B}]^\dagger = \hat{B}^\dagger \hat{A}^\dagger$$

$$31) \langle A^2 \rangle \geq 0 \quad A - \text{op. ueliciay} - \text{Hermitarsy' / sym.}$$

$$\int \psi^* A^2 \psi d\tau = \int (A\psi)^* A\psi d\tau = \int |A\psi|^2 d\tau \geq 0 \quad \text{OK}$$

$$32) A, B: [\hat{A}, \hat{B}] = 1$$

$$[A, B^2] = AB^2 - B^2A = \underbrace{AB}B - \underbrace{BA}B + \underbrace{BAB} - \underbrace{BBA} = [A, B]B + B[A, B] = 2B$$

$$33) [A, B^n] = AB^n - B^nA = \underbrace{ABB^{n-1}} - \underbrace{BAB^{n-1}} - \underbrace{B^{n-2}BA} + \underbrace{BAB^{n-1}} - \underbrace{BB^{n-1}A}$$

$$= [A, B]B^{n-1} + B[A, B^{n-1}] = B^{n-1} + (n-1)B^{n-1} = nB^{n-1}$$

det. indukciol = (n-1)B^{n-2}

$$[A, f(B)] = f(B) = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} B^n \quad f^{(n)} = \frac{d^n f}{dx^n}$$

$$[A, f(B)] = [A, \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} B^n] = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} [A, B^n] =$$

$$= \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} n B^{n-1} = \sum_{n=1}^{\infty} \frac{f^{(n)}(0)}{(n-1)!} B^{n-1} = \sum_{m=0}^{\infty} \frac{f^{(m+1)}(0)}{m!} B^m$$

$$= \sum_{m=0}^{\infty} \frac{d^m}{dx^m} \frac{d f}{dx} B^m = \sum_{m=0}^{\infty} \frac{d^m}{dx^m} f' B^m = f'(B)$$

$$2) \psi(x) \& \exp[if(x)] \psi(x) = \varphi$$

$$j(\varphi) = \frac{\hbar}{2mi} \left(\psi^* \frac{\partial \psi}{\partial x} - \psi \frac{\partial \psi^*}{\partial x} \right)$$

$$j(\varphi) = \frac{\hbar}{2mi} \left(\exp[if(x)] \psi^*(x) \frac{\partial \exp[if(x)] \psi(x)}{\partial x} - \exp[if(x)] \psi(x) \frac{\partial \exp[-if(x)] \psi^*(x)}{\partial x} \right)$$

$$= \frac{\hbar}{2mi} \left[\exp[-if(x)] \psi^*(x) \left[\psi(x) \frac{\partial e^{if(x)}}{\partial x} + e^{if(x)} \frac{\partial \psi(x)}{\partial x} \right] - e^{if(x)} \psi(x) \left[\frac{\partial e^{-if(x)}}{\partial x} \right] \psi^* + e^{-if(x)} \frac{\partial \psi^*}{\partial x} \right]$$

$$= \frac{\hbar}{2mi} \left[\psi^*(x) \frac{\partial \psi(x)}{\partial x} - \psi(x) \frac{\partial \psi^*}{\partial x} \right]$$

$$+ \frac{\hbar}{2mi} \left[i \psi^*(x) \psi(x) \frac{\partial f(x)}{\partial x} + i \psi(x) \psi^*(x) \frac{\partial f(x)}{\partial x} \right]$$

$$= j(\psi) + \frac{\hbar}{m} \psi^*(x) \psi(x) \frac{\partial f(x)}{\partial x}$$

4) Fourier $\psi(x) = h \exp(it_0 x)$ for $-a/2 \leq x \leq a/2$; $\psi(x) = 0$; rest

$$\varphi(k) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \psi(x) e^{-ikx} dx$$

$$= \frac{1}{\sqrt{2\pi}} \int_{-a/2}^{a/2} h e^{it_0 x} e^{-ikx} dx = \frac{h}{\sqrt{2\pi}} \int_{-a/2}^{a/2} e^{i(t_0 - k)x} dx$$

$$= \frac{h}{\sqrt{2\pi}} \frac{1}{i(t_0 - k)} \left[e^{i(t_0 - k)x} \right]_{-a/2}^{a/2} = \frac{h}{\sqrt{2\pi} i(t_0 - k)} \left[e^{i(t_0 - k)a/2} - e^{-i(t_0 - k)a/2} \right] =$$

$$\exp(ix) = \cos(x) + i \sin(x) \rightarrow \sin(x) = \frac{1}{2i} [\exp(ix) - \exp(-ix)]$$

$$\exp(-ix) = \cos(x) - i \sin(x)$$

$$= \frac{2h}{\sqrt{2\pi}} \frac{\sin[(t_0 - k)a/2]}{t_0 - k}$$

$$\leadsto \text{sinc}[(t_0 - k)a/2], \text{ Bessel } J_0$$

21.6 VL. fce.

UKMT26

2) $H\psi = E\psi$ H -real'ny'

c.c.: $H\psi^* = E\psi^*$

$\text{Re}(\psi) = \frac{\psi + \psi^*}{2}$ - real'na' cist ψ

$\text{Im}(\psi) = \frac{\psi - \psi^*}{2i}$ - imaginarni' cist ψ

$H\psi + H\psi^* = E\psi + E\psi^*$

$H\left(\frac{\psi + \psi^*}{2}\right) = E\left(\frac{\psi + \psi^*}{2}\right)$

3) $\psi(x) = A \cos(kx)$; $k \in \mathbb{R}$, vl. fce \hat{p} ?

~~$\hat{p}\psi$~~ $\hat{p}\psi = -i\hbar \frac{d}{dx} A \cos(kx) = +i\hbar A k \sin(kx) \neq C \cos(kx)$

\hat{p}^2
 $\hat{p}^2\psi = -\hbar^2 \frac{d^2}{dx^2} A \cos(kx) = +\hbar^2 k^2 A \cos(kx) = +\hbar^2 k^2 \psi \quad \text{OK}$

$\Rightarrow \psi = \hbar k$ vl. cist

$\psi(x) = A \cos(kx) + B \sin(kx)$

$\hat{p}\psi = -i\hbar \frac{d}{dx} [A \cos(kx) + B \sin(kx)] = i\hbar A k \sin(kx) - i\hbar B k \cos(kx)$

$= i\hbar k [A \sin(kx) - B \cos(kx)]$

soj $A = 1$
 $B = i$

$i A = B$ $i 1$
 $-i B = A$ $1 i$

$\rightarrow i\hbar k \sin(kx) + i \cos \hbar k \cos(kx)$

$\hbar k [\cos(kx) + i \sin(kx)] \rightarrow \hbar k e^{ikx}$

8) ul. číslo a fee of. $-i \frac{d}{d\varphi} = \hat{A}$ ~~\hat{A}~~ ψ ve sférických súradniciach

$$\hat{A}\psi = \lambda\psi$$

$$-i \frac{d\psi}{d\varphi} = \lambda\psi$$

$$\frac{d\psi}{d\varphi} = i\lambda\psi \rightarrow \text{uvedieme } \psi = e^{i\lambda\varphi}$$

8) spojitosť: $\psi(\varphi) = \psi(\varphi + 2\pi)$

$$e^{i\lambda\varphi} = e^{i\lambda(\varphi + 2\pi)}$$

$$1 = e^{i2\pi\lambda} \Rightarrow \lambda = 0, \pm 1, \pm 2, \dots$$

normovaní

$$\psi = N e^{i\lambda\varphi}$$

normovaní

$$\int_0^{2\pi} \psi^* \psi d\varphi = \int_0^{2\pi} N^2 e^{-i\lambda\varphi} e^{i\lambda\varphi} d\varphi = N^2 \int_0^{2\pi} d\varphi = 2\pi N^2 = 1$$

$$\rightarrow \psi = \frac{1}{\sqrt{2\pi}} e^{i\lambda\varphi}$$

$$\psi = \frac{1}{\sqrt{2\pi}} e^{i\lambda\varphi}$$

$$N = \frac{1}{\sqrt{2\pi}}$$

9) $\hat{A} = \sin\left(\frac{d}{d\varphi}\right)$ ul. číslo a fee, ψ - sikel rotácie ve sfér. súr.

$$\hat{A}\psi = \lambda\psi$$

$$\sin\left(\frac{d}{d\varphi}\right)\psi = \lambda\psi$$

$$\sin(x) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} x^{2n+1}$$

$$\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \frac{d^{2n+1}}{d\varphi^{2n+1}} \psi = \lambda\psi$$

$$\text{tip } \psi = N e^{\alpha\varphi} \quad \frac{d^{2n+1}}{d\varphi^{2n+1}} N e^{\alpha\varphi} = N e^{\alpha\varphi} \alpha^{2n+1}$$

$$\psi \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \alpha^{2n+1} = \lambda\psi$$

$$\underbrace{\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \alpha^{2n+1}}_{\sin(\alpha)}$$

$$\lambda = \sin(\alpha)$$

$$N e^{\alpha(\varphi + 2\pi)} = \psi(\varphi) = \psi(\varphi + 2\pi) = N e^{\alpha(\varphi + 2\pi)}$$

$$\rightarrow \alpha = im \quad m = 0, \pm 1, \dots$$

$$\lambda = \sin(im) = i \sinh(m)$$